
   construct the compound tenses of a verb 
Each compound tense  corresponds to a single tense.  
 A compound tens  is composed of an auxiliary verb, or helping verb (the conjugated 
verb used in front of another verb). It indicates the mood and tense. In French, the 
auxiliary verb is either « avoir » or « être ». The past participle of the second verb gives the 
meaning 
(look below). 

 Example : temps simples et temps composés du mode indicatif : 
 

Temps simples Temps composés 
Présent 
Ex. : donne 

Passé composé 
présent of aux.V. + Participe passé 
      a                        donné 

imparfait  
ex. :donnait 

plus que parfait 
imparfait of aux.V. + Participe passé  
            avait                       donné 

Futur 
ex. : donnera 

futur antérieur  
futur of aux.V. au + participe passé  
         aura                          donné 

passé simple  
ex. : donna 

Passé antérieur 
passé simple of aux. V. + participe passé 
     Eut                                 donné 

 
When you are speaking French, you must learn first the “passé compose” because it is very often used 
with the present (and second le plus que parfait). The other composed tenses are usefull mainly to read 
literature. 
 
To construct the compound tenses of a verb, you must know: 
 

• 1 what auxiliary verb to use. The choose is between « avoir » and « être ».  
2  how to conjugate this auxiliary verb with the right simple tense (look 
examples above).  

 
         Use the verb avoir as auxiliary for                Use the verb  être  as auxiliary for  
Most of the verbs 
 - transitifs 
 - impersonnels 
and a lot of intransitifs v. 

The reflexive verbs 
some intransitifs v. whose meaning is: 
    -to move : aller, arriver, entrer, passer, sortir 
etc. 
     – and also : devenir, advenir… 

 
     3  then , the second part is the participe passé of the other verb giving the 
meaning 

 
 examples : plus que parfait du verbe « aller » 

- auxiliaire : le verbe  être, il est à l’imparfait :              j’étais    
   - + le participe passé du verbe « aller »                              allé 

     passé composé du verbe « pleuvoir » 
- auxiliaire  le verbe  avoir , il est au présentr :                   il a   

   - +  le participe passé du verbe « pleuvoir »                   plu  
 
Le même principe s’applique à tous les temps composés de tous les modes : 

Conditionnel passé : il aurait ramené 
Impératif passé : aie ramené 
Subjonctif passé : (qu’) il ait ramené  
Subjonctif plus que parfait: (qu’)il eût ramené 


